
Full Marks / quifi: 

Name of the Examination: Selecction for the post of Jr. Clerk against 33 1/3 % PRQ (Levcl -2 as per 7" 
PC) in Mechanical/C&W dept. under Sr. DME/Co/SDAH 

Duration/ 3raf : 02 hours. 

Instruction for candidates / 3at 

100 

06 

fY 3 

Each question carries one mark. There is no negative mark for wrong answer. 

Question no. 101 to 110 is Rajbhasa Questions are optional. 

Candidates have to attempts 100 questions out of 1 10. 

O1. He 

qieTet 110 WEt 100 gt BOR I 

Eastern Railway 

Do not write anything on answer sheet disclosing your identity. Otherwise candidature will be 

cancelled. 

Candidate use only blue and black ball pen. 

All questions are multiple choices. 

(write) to me every month. 

(A) is writing (B) writes 

02. She ..... (leave) for Jammu yesterday. 

(B) is leaving (A) leaves 

Q3. He ..... (buy) a car one month ago. 

(A) Bought (B) has bought 

04. He (teach) in this college for five years. 

Q5. I....... (tell) you already about it. 

(A) told 

Any type of Cutting, Overwriting, Erasing or alteration of answer will not be accepted. Zero marks will 

be given for having correction and overwriting answer. 

Choose the verb 

(A) Good 

Q7. Plural Number of Man 

(A) Main 

: 

Q8. Singular number of knives 

(B) have told 

Date/rRa: 4.12.2022 

(B) Work 

Time/ {HU: 

(B) Men 

(C) has bcen writing 

12:00 hrs. To 14:00 hrs. 

(C) has been leaving 

(C) has been buying 

(C) taught 

(C) tells 

(C) West Bengal 

(C) Mean 

(D) has been writing 

(D) left 

(D) had been buying 

(D) has been teaching 

(D) am telling 

(D) Fool 

(D) Mans 
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(A) teaches (B) is teaching 



(A) Knife 

Q9. He jumped 
(A) on 

(A) Heavy 
Qll. Mumbai is the 

(A) bigger 

QI0. Choose the close opposite of MINOR 

Q12. The Magazine is .... 

(A) on 

the well. 

QU3. Choose the adjective. 

(A) India 

Q14. He goes 

(C) Men are mortal 

(B) Knefe 

(A) He is an European 

(C) He is the European 

(B) in to 

Q19. Choose the active voice. 

(B) Tall 

City of India. 

school by bus. 

(A) to 

Q1s. Rakhi is the girl .. has failed. 

(A) whom 

Q16. Choose the correct spelling. 

(B) big 
the table. 

Q21. Choose the passive voic. 

(A) structore 

Q23. I have money, I 

(B) in to 

(A) genius 

Q17. Which is the correct sentence? 

(A) The man is mortal. 

(B) Kolkata 

(C) She is a honest lady. 

Q18. Which is the correct sentence? 

(B) at 

(B) who 

(B) jenius 

(A) Gravity was discovered by Newton. 

(C) Rahul builds houses. 

020. Which is the correct sentence? 

(A) She is an honest lady. 

(A) He writes a letter. 

(C) Houses are built by Karan. 

022. Choose the correct spelling. 
(B) sturchre 

it tomorrow. 

(B) would purchase 
hard. 

(B) working 

(A) will purchase 

Q24. She succeeded by 
(A) work 

025. The departmental storeis opcn 

(C) Knive 

(C) in 

(C) Major 

(C) biger 

(C) in 

(C) beautiful 

(C) by 

(C) which 

(C) geneus 

(B) Man is mortal 

(D) None of these. 

(B) He is a European 

(D) None of these. 

(D) None of these. 

(D) at 

(C) strucchare 

(D) Big 

(C) have purchase 

(D) biggest 

(C) continuous work 

eight to seven. 

(D) at 

(D) Cat 

(B) Two trees have planted by me. 

(D) None of these. 

(D) on 

(B) She is the honest lady. 

(D) whose 

(D) genious 

(B) Ram was going to Mumbai. 

(D) None of these. 

(D) structure 

(D) have purchased 

(D) continuous working 
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(A) by 
Q26. Give the antonym of MILITARY 

(A) Civil 

Q27. You are sitting 
(A) Among 

(A) Gentle 

Q29. She. 

Q34. It 

Q28. Find the word just opposite of TIMID. 
(B) Tired 

(A) has been 

Q33. My mother.. 
(A) get 

Q30. Choose the correct spelling. 
(A) Ilustration 

(A) have been 
Q35. The children 

(B) Illustration 

Q31. Choose the correct antonym of BRILLIANT. 
(A) Apparent (B) Flat 

Q32. Choose the correct spelling. 
(A) Aproched 

(A) are playing 

(A) 1516 

(B) from 

learning English since 2020. 

(A) greater than 7 

(C) less than 7 

(A) 7 

(B) Militant 

(C)7 # 

.Sita and Gita. 

(B) between 

H 

IeT 

(A) VXDQ 

(B) had 

Q36. Which number is divisible by 11? 

(B) Aproached 

up early in the morning. 

(B) gets 
.raining since morning. 

(B) has been 
in the field now. 

(B) has played 

(B) 1452 

(C) between 

(C) Civility 

(C) insight 

(B) XUGX 

(C) Brave 

(C) will 

Q37. When a number is divided by 7, its reminder is always 

(C) lluestration 

(C) Dull 

(C) Approached 

(C) will be 

(C) is 

(C) plays 

(C) 1011 

(B) at least 7 

(D) None of these. 

(B) HH cpH 7 

(D) 1 

(D) during 

(D) will be 

(C) Rs. 3900 

(D) Coup 

(C) ROAR 

(D) among 

(D) Snitcher 

(D) Illustreation 

(D) Shining 

(D) Appraoched 

(D) shall be 

Q38. If a person sells a sari for Rs. 5200 making a profit of 30%, then the cost price of the sari is 

(D) was 

(D) will had played. 

(A) Rs. 4420 (B) Rs. 4000 (D) Rs. 3800 

Q39. In a certain code "ROAR' is written as 'URDU'. How is URDU' written in that code ? 

(D) 1121 

(D) VSOV 
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Direction for Q40: In each of the following question, choose that set of numbers from the alternatie 
sets, which 

is similar to the given set 
Q40 fo AT: fegd 

Q40. (32, 24, 8) 
(A) (26, 32, 42) 

Q41. 1, 6, 13, 22, 33, ? 

(A) 44 

Q42. 8, 7, 11, 12, 14, 17, 17, 22, ? 

(A) 27 

7 

How many tiles will he need? 

(A) 11 

(B) (34, 24, 14) 

(A) 320 tiles 

Q44. What is the next prime number after 7 ? 

(B) 45 

Q45. Solve 3 +6 x (5+4) +3 -7 

(A) 11 

(B) 20 

45. Jay's room has a floor of 8m by 4m. He decides to tile the floor with tiles of 25 cm x 20 cm. 

qTG 341I 3THIY 3jc# quT ? 

(A) 346.5 cm? 

(B) 640 tiles 

}T 3 +6x (5+4) + 3-7 

(B) 16 

(A)0 

(B) 13 

(A) 8 

(A) 9 cm 
047. The area of the circle whose diameter is 21 cm is 

(B) 14 cm 

Q48. The quadratic equation has degree. 

Q46. In a rectangle Length=8 cm, Breadth = 6 cm. Then its diagonal = 

(B) 337.5 cm² 

(B) 1 

Q49. The cubic equation has degree. 

(A) 1 

Q50. How many sides does decagon has? 

(C) (24, 16, 0) 

(B) 2 

(C) 46 

(B) 10 

(C) 24 

(C) 160 tiles 

(C) 14 

(C) 14 

(C) 10 cm 

(C) 318.84 cm² 

(C) 2 

(C) 3 

(D) (42, 34, 16) 

(C) 6 

(D) 47 

(D) 22 

(D) 6.4 tiles 

(D) 9 

(D) 11 

(D) 12 cm 

(D) 336.5 cm² 

(D) 3 

(D) 4 

(D) 12 

Q51. 

C 



051. The diagonals of a square are 

(A) equal to 

(A) RIR 

(A) 1:10 

O52. The ratio of 10 m to | km is 

4:25 T fai 
053. The ratio 4:25 converted to percentage is 

(A) 120 
Q56. V 12 x V8 is equal to 

12 x V8 RIGT EI 

(A) 2V6 

(B) unequal to 

(B) RICr 

qfaf 

(A) 1000 

(B) 10:1 

(A) even 

(A) HH 

(A) 8% 

Q54. Out of 40 students in class 25 % passed. How many students failed? 
(B) 4% 

(A) 20 (C) 30 (B) 10 

Q55. Which these angels cannot be constructed using ruler and compass? 

(B) 400 

Q58. The cube of an even natural number is 

(B) 60 

(A) 9989899 

(B) 3V6 

. cach other. 

(B) odd 

O57. Which of the following numbers is a cube number? 

(B) fAqH 

(C) not define 

(C) 3ruffta 

(A) a +b (B) ab 

Q60. Which of the following is a monomial? 

(C) 1:100 

(C) 16% 

(B) 9989999 

(C) 140 

(C) 6v6 

Q59. The area of a rectangle of length a and breadth b is 

(C) 100 

(C) a² + b 

(C) a + 6 +c 

(D) none of these. 

(C) 9988899 

(D) t 

tya 

(D) 100:I 

(D) 25% 

(C) may be even, may be odd (D) Prime number 

(D) 40 

(D) 135 

(D) 4N6 

(D) 600 

(B) a + 6 (A) 4x² 

Q61. The difference between7 digit biggest number and 5 digit smallest numbers is 

(D) J4|Y HT 

(D) 2ab. 

(D) a + b+c+d 

(D) 100000 

298 
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Q62. What is the full form of KRCL? 

(A) Kolkata Rail 
Corporation Ltd 

(A) HIOII 

(A) Delhi 

(A) feof 

(A) Mumbai Central 

Q05. Where is Indian Railwvay Institute of Transportation Management (IRITM) located? 

(A) Delhi 

(A) ftof 

(B) Konkan Railway 
Corporation Ltd 

Q64. Where is headquarter of Western Railway Located? 

(A) RGT fAaH 

(B) tau ort 

Q65. Where is Railway Board located? 

(A) Piyush Goyal 

(B) Lucknow 

(A) iyg u 

(B) aG 

(A) Delhi 

(B) Churchgate 

Q66. What is the full form of RVNL? 

(A) ff 

(B) Tete 

(A) Rail Vikas Nigam (B) Rail Vyapar 
Ltd Nigam Itd. 

(B) Lucknow 

(B) E3 

Q67. Who is the current Railway Minister of India? 

(B) t y 

Q68. Charminar is situated in which city of India? 

(B) 34f ug 

(B) Mumbai 

(B) yae 

(C) Kerala Rail 
Corporation Ltd 

069. What is the full form of RRC? 

(A) Railway Recruitment channel 
(C) Railway Recruitment Corporation 

(C) Bhopal 

(B) rGIà 4T 

(C) 9I 

(B) Ashwini Vaishnaw (C) Suresh Prabhu 

(C) CSMT 

(C) frqwg 

(C) Bhopal 

(C) HT41GI 

(C) Railway Vistar 
Nigam Ltd. 

(C) }e favar 

(C) Hyderabad 

(C) teRIqIG 

(D) None of these. 

(D) I 

(D) None of these 

(D) Banaras 

(D) qRH 

(D) LTT 

(D) Yod 

(D) Banaras 

(D) 4RH 

(D) None of these. 

(D) Nitin Gadkari 

(D) AfdT S 

(D) Chennai 

(D) 

(B) Railvway Recruitment Cell 

070. 



O70. Who is the current President of India? 
(A) Narendra Modi 

(A) RE 
071. Who heads the Safety Department in a zone. 

(A) PCOM (B) PCSO 

(A) heftsyy 

(A) 30 

(A) 120 f 

(A) 10 

(A) 10 

(C) aut 
Q72. How many days of LAP can be credited to an employee in a year? 

(A) 30 

t 

(A)3 #e 

(B) Ram N. Kovind 

(B) RTH Te ofda 

(B) 20 

Q73. A female Railway Employee shall be entitled to maternity leave for? 
(A) 120 days 

Q74. How many days of patermity leave is allowed? 

(A) Prime Minister 

(A) ye4 

(B) fFI0 

077. APAR is used for 
(A) Promotion 

(B) 20 

(B) 180 days 

(B) 180 fi 

(B) 15 

Q76. Who is the supreme disciplinary authority? 

(B) 15 

(B) 4 HE 

(B) Chief Minister 

Q75. After completion of 5-years, Group-D employee are eligible for.. 

(A) 3 sets. (B) 4 sets. 

(B) JH 

(C) Maira Kumar 

(B) Suspension 

(C) îRI HTR 

APAR # fas gTT fT GII ? 

(A) veT-f (B) frdqH 

(C) DG 

Q78. What is the full form of HRMS? 

(B) High Railway (A) Human Resource 
Management System Material System 

(c) 10 

(C) 10 

(C) 90 days 

(C) 90 feT 

(C) 20 

(C) 20 

(C) 5 sets. 

(C) 5 H 

(D) Dropadi Murmu 

(C) President of lndia 

(C) Removal 

(D) PCME 

(D) rHE 

(D) 15 

(D) 15 

(D) 135 days 

(D) 135 f 

(D) 25 

(D) 25 

sets of privilege passes. 
(D) 6 sets. 

(D) 6 e 

(D) GM 

(C) HTVG VIguft (D) y 

(D) Dennosion 

(D) fz 

(C) Heritage Rail 
Managenment System 

(D) None 

2S 
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(A) H1q HHIEH 

Q79. Which department looks after parcel business? 

(A) Operating 

(A) 30Tqf 

Q80. Full form of DSC? 

(A) Digital Signature 
Certificate 

(A) ART call 

(A) q3TR od 

Q82. Power Car is used for 

QS1. Sounding of hooter means? 

(A) Luggage 

(A) HHTH 

(B) Ja tt 

(A) Boost Power 
Certificate 

(B) Commercial 

(B) qIfurfys 

(B) Digital Server 
Certificate 

311RUT 

(B) fSfrcH HÁR 

(B) Train Departure 

(B) rTT 

(B) Guard 

O83. What is the full form of BPC? 

(B) I|S 

(B) Brake Power 
Certificate 

Q84. What is the full form of RAC? 

(A) Reservation after (B) Reservation 
Cancelation Against Cancelation 

341RU 

085. What is the full form of OBHS? 

(A) Onboard Housekeeping Service 
(C) Online Housckeeping Service 

(C) Mechanical 

(C) #ofo 

(C) Digital Signature 
Case 

(C) Cyclone warning 

(C) fsfcG fa (D) 1 

(C) fayT JYIGT 

(C) Black Page 
Certificate 

(D) i 

(D) IRCTC 

(C) Reservation after 
Confirmation 

(D) 3TÉA 

(C) TÞqG Tq-t (D) o1s i 

(C) Electricity Generation 

(D) None 

(D) None 

(D) none 

(D) Al 

(D) H+ 

(D) None 

(D) None 

(D) 0 

(B) Onboard Hygiene Service. 



O86. Who is the branch officer of Commercial department at Division level? 
(A) DCM 

(A) SfH 
O87. UTS is used for? 

(A) Unreserved ticket (B) Reserve ticket 

(A) 3HIRÍAT fle (B) 3Rfat flac 

Q88. Who has written "Gitanjali"? 
(A) Jawahar Lal Nehru (B) M.K.Gandhi 

zftaive f fora 

(A) GeIER IG E5 (B) H iet 
Os9. Who is the Governor of West Bengal? 

(A) 20 

090. Total number of Railway Recruitment Board? 

(A) 20 

(B) Sr. DCM 

(A) Delhi 

(B) \ftu AAH 

(A) DRM 

091. In which city BLW situated in India? 

(A) Í3ATRYA 
093. RDSO is located in ? 

(A) Bae Bareli 

(A) ZIYAR 

094. Pen drive is a 

(A) Mamta Banerjee (B) Sri L.Ganeshan (C) Dr. C.V. Ananda Bose (D) Keshrinath Tripathi 

(A) input 

(A) FYe 

(B) 21 

(B) 21 

(A) ftot 

092. Who is the head of Personnel Branch in Division? 

(B) Bengaluru 

(B) Te0R 

(B) ADRM 

(B) ÌATRYH 

(B) Jaipur 

(B) TUy 

..device 

(B) output 

..... 

(C) CPO 

(B) AIJCYc 

(C) frst 

(C) Parccl booking 

(C) VHG gf 

(C) R.N.Tegore 

(C) 3TR 

(C) 19 

(C) 19 

(C) Banaras 

(C) RH 

(C) Sr.DME 

(C) frfuR STyag 

(C) Bhopal 

(C) 4c 

(C) storaye 

(D) Sr. DOM 

(C) NG 

(D) rftuR SH 

(D) None of these 

(D) i 

(D) Ballav Bahi Patel 

(D) 22 

(D) 22 

(D) Chittaranjan 

(D) faduT 

(D) Sr. DPO 

(D) fr Srit 

(D) Lucknow 

(D) A3 

(D) none of these 

(D) a 
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Q95. Where is the Railway Recruitment Board in Eastern Railway? 

(A) Kolkata 

(A) 1OIGI (C) 4TT 

Q96. "Give me blood I will give freedom". Whose slogan was this? 

(A) Subhash Chandra Bose (B) Bal Gangadhar Tilak 

Q97. Who is the DRM of Sealdah Division ? 

(A) Sri V.K.Singh (B) Sri S.S.Priyadarshi 

(A) Ctrl+C 

(B) Bhubaneshwar 

Q98. Which of the following animal is a mammal? 
(A) Ostrich (B) Vulture 

(B) 4+rqR 

(A) YgRYt (B) E 
Q99. In computer which command is used for paste? 

(A) Na 

(B) IH TjUr f 

(A) f 

(A) 21 

(A) igt+ (B) Hgta+ 

(B) Ca 
Q101. Which of the following is National Language of India? 

(A) Hindi (B) English 

(A) Hindi 

(B) Ctrl+P 

(A) fa 

(B) 3uf 

Q103. Rajbhasha Hindi is written in which script? 

(B) 23 

(C) Patna 

(B) Pali 

(C) Bats 

(B) I 

(C) P 

Q102. How many language are recognized by the Indian Constitution? 
(A) 21 (B) 23 (C) 22 

(C) 22 

(C) M.K.Gandhi 

(C) THIGÇ 

(C) Sri Vipin Kumar 

(C) Ctrl+V 

(C) hçto+T 

(C) Bangla 

(C) TT 

(D) K 

(C) Devnagri 

(D) Delhi 

(C) ¿qT 

(D) fto 

(D) 24 

(D) None of these 

(D) 24 

(D) Sri S.P.Singh 

(D) Peacock 

(D) q& fR 

(D) R 

(D) Ctr+X 

(D) t+yGNH 

(D) Sanskrit 

(D) HQT 

(D) Sanskrit 

(D) HEQT 

Q100. What is the chemical formula of Potassium? 



Q104. Translate "Office Order" into Hindi? 

(A) Karyalay suchna 

(A) Hrufs yuI 
o105. When is Hindi Day celebrated? 

(A) 12 H$ 

(A) 12 May 

frt feH AT GIGT ? 

(A) Praveen 

(A) Hau 

(B) Sambida 

(A) .8 HAlTY 

(B) ifdGT 

(A) 1950 

(B) 14 Sep 

Q106. What are the Hindi Courses prescribed to central Govt. employee? 

(B) Prabodh 

Q107. Which ministry takes important decision related 

(A) Ministry of Home (B) Ministry of 
Affairs Railways 

(B) 14 fNRR 

(A) 10 January 

(B) YATT 

(A) 10 j-a 

(B) 1965 

(A) President (B) Speaker of lok Sabha 

(A) Igyfa (B) HTHT HI Ror 

Q110. When is World Hindi Day celebrated? 

(C) Masauda 

(B) R HalY (C) fà Halfs 

Q108. In which year Hindi become official language of Union of India? 

(B) 1965 (A) 1950 

(C) HT 

(B) 14 Sep 

(C) 14 Oct 

(B) 14 fTER 

(C) 14 3HçaR 

(C) Prahya 

(C) WT 

Q109. Who is the chairman of Central Hindi Committee? 

of Official Language? 
(C) Ministry of 

Finance 

(C) 1971 

(C) 1971 

(C) Prime Minister 

(C) y 

(C) 14 Oct 

(C) 14 34aR 

(D) Karyalay Aadesh 

(D) Hrufcs 3HT}I 

(D) 6 April 

(D) 6 3H 

(D) All of these 

(D) TÂ 

(D) Ministry of 
Culture 

(D) HVpf HarY 

(D) 1985 

(D) 1985 

(D) None 

(D) S0 

(D) 6 April 

(D) 6 39a 
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